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7.12. Consider the following models.”
Model A: 1"} = T :r;.l’:, -+ E'jX]: - Hyr
Model B: (Y. = Xy) =61 + 1 Xo + B3 Xy + 1y

a. Will OLS estimates of o; and 8, be the same? Why?

b. Will OLS estimates of ; and 8; be the same? Why?

c. What is the relationship between «; and 8,2

d. Can you compare the R* terms of the two models? Why or why not?
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Base Question: Given the following data in matrix form, answer the
questions below:

6 1 6 10
2 1 2 8
Y= |16 X=11 10 12
6 1 4 8
10| 1 8 12
a. Estimate the least squares regression line.
b. Compute ESS and TSS.,
c. Compute and interpret coefficient of determination,
d. Estimate the error variance.
e. Estimate Var-Cov matrix.
f. Test the validity of the model.
8- Test the null hypothesis Ho: 5, = 0
h. Test the null hypothesis Ho: B2 = By
i. Test the null hypothesis Ho: Bs + B3 =15
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